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The question paper is in the form of Question Booklet with 90 questions. A separate
OMR sheet is provided for answering the Questions.

| R et Y A B F R TR o W R/ ae & v AT sl
ufge Uef (chTell AT aien) &l & JaT Hil
Use only Ball Point Pen (Black or Blue) for writing/ shading on OMR sheet and marking
your answers.

. S A AR aR Al ) e far g3m st e diist s (WEHIES) AR
offe & aiew & fEar IR gae BT AR 1 W A AW W, SearqfFas @
Sirar S8 @ Seef
Question Booklet series code (A/B/C/D/E) printed on the right hand top corner is

mandatory to be written on the OMR sheet in the box and bubble appropriately, failing
which the answer sheet will not be evaluated.




7. MNwANT MNe F 39ar JArF AT e Fa Sk A ford|

Enter your Name and Roll Number correctly in the OMR answer sheet.

8. fafed o ug & fov i devaar & HUR W aR Skl & @Y aEgfass
g Y gl| e & Fae v ek TGy &9 & HEl g

The written test will be of objective type based on the qualification prescribed for the
post with four answers indicated, of which only one will unambiguously correct.

9. 3T 3ea¥ TAF #F XU v AT & ITEN IMNTANR ek uFdh & FEiOd HSTHR
T I #RA U WA IR T AT A
You have to select the right answer by marking the corresponding oval on the OMR
answer sheet as per the instructions given in the OMR answer sheet.

10. YeF TEY 3ea¥ I U 37 & Td 3ca] I 0.25 3k wA fRam Siwen 3R 3eclk o
& TR QT 3 T
Correct answer carry one (1) mark each; Zero (0) for no answer and minus zero point

twenty five (-0.25) for a wrong answer.

11, Ty of uea & fOIT &€ Rdedl &1 e 9T Icdd ITeAd AT ST

Multiple answers for a question will be regarded as a wrong answer.

12. MEANR e F caegde fod| AfaRed oA e gerer aigh &1 See|
Marking in OMR may be done with utmost care. No spare OMR sheet will be provided.

13, fld odier gfe & 3iay FRIL, Folphoe, Adgel Blt I 37T golFgiias
FGHIOT, TISY JEclehl, A anfe;, et Y sregAfer wigt & S
Computers, Calculators, mobile phones, reference books, logarithm table, electronic
gadgets etc. will not be allowed inside the Examination Hall.

14.Waﬁwqamﬁw$mwmwmaaﬁv%mwwm
1S WaReFd e F@r & Suel|
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grreaA B (Rfder) & ug ¢ faf@a wlan
Written Test for Draughtsman B (Civil)

Yol UF AR : DC/21001-A Question Paper No. : DC/21001-A
Heed#H 07 : 90 Maximum Marks : 90

Hgcdd 3rafer : 1.5 geT Maximum Duration : 1.5 hours
el Ieax ofaw Write the correct Answer:

1. Ag 71T & ofie &1 aa%d &

1. Area of AO size sheet is:
a1 m? gb 100 cm?
®c 05 m? g/d 50 cm?
T & Ifehel AFIL & o §:
The vertical member of step is called:
3dfa  foleer / Lintel g/b TSR / Riser
@w/lc  %e / foot g/d ¥l / Slab

3. e (sl g B aig &
Brass is the alloy of these:
3Hla Cu & Zn /b Cu & Pb
FHc  Cu & Sn g/d 54 H ¥ U« & A87 / None of the above

4, AT $¢ (Agger §liek) & AT &
4, Nominal size of modular brick is:
3i/a 19 cm x 12 cm x 12 cm d/b 25cm x 9 cm x 9 cm

Eole 19 cmx 12 cm x 9 cm s/d 19 cm x 9 cm x 9 cm
5. RCC &I #Addd g;
5. RCC stands for:

3fa  EAREs HEE Fide / Reinforced Cement Concrete

b ARES FEA dihie /| Reinforced Carbon Cement

Flc  BARES WHT FFEe / Reinforced Cement Composite
3ld  YEADES @b wegaaa / Reinforced Concrete Construction

TR T 3YART T A9 F A gar

6. Planimeter is used to measure:
da  9s / Length b ¢ / Volume
Hlc BTG / Area g/d @07 / Angle

A, T &1 AT g

The dimension of A, sheet is:

3Hla 287 mm x 420 mm d/b 420 mm x 594 mm

&ic 210 mm x 297 mm g/d g4 T U o 787 / None of the ahove

TR ofer gaior A, wee o, fder var @ AR ST § |
In third angle projection, front view is made _ the reference line.
Hla  F9 [ above b T /below
1 DC/21001-A




10.

10.

1.

11

12.

12

13.
13.

14.
14.

15.
158

16.
16.

17.
T,

Me & O fFdsr ®les 3aeas g2

How many folds are required for filing of AO size sheet?

da 8 a/b 9
dfc 10 g/d 12
AutoCAD #, FAFE & IAT T AW Ry TR AT AT wr A wrEeE

ZaRT IS Yot § SO S |

In AutoCAD, command is used to fill the drawn component by predefined or user

drawn pattern.

Hla ell5a / line d/b SIH [ zoom
Flc  Tho [ scale 3/d g / hatch
25 HEHld = mm

25 micron = mm.

31/a 0.025 /b 25000

&/c 25 3/d 2.5

g ggfd 7 1 ey & S g

The equivalent of 1 meter in the inch system is
Ha 107 d/b 36"

@/c  39.37" 3/d 37.39”

30 mm Foar QREw) w60 mm e A (FiT g$e) ar o & At o (TR W) &

Apex angleof cone having 30 mm radius and 60 mm slant edge is:
3/a 30° d/b 45°

Hlc  60° 3/d 90°

Ay @AY & i # dars A SENK I CES ] HERSCE

In Ay size sheet zones are along the length while zones are along
the width.

Ha 9,6 g/b 12, 8

&ic 16, 14 3/d 20, 16

AutoCAD &, 3NfET 19T & FIT &I HH A & FHTes T 39T fHar Srdr § |
In AutoCAD, we can reduce the size of object using command.

Hla  SH / zoom Fb  &H/ trim

#ilc  Thd / scale g/d s / line

398 e vd e @A & awrad @ FEd € |

The difference between upper limit and lower limit is :

dfa  ®iT/ Fit g/b  sfaued (fe=ed) / Deviation

Fic A (A19) / Dimension g/d  Zre=u / Tolerance

R & TR FHIOT H F9T T &
Sum of four angles of square is:
3/a 90° g/b 180°

&l 360° s/d 270°
2 DC/21001-A



18.
18.

19.
19.

20.
20.

21

22,
22.

23.
23

24,
24.

25.
25.

26.
26.

100+0.05 w19 & AT 3Udr WA &

For the dimension 100 +0.5, uper limit is:

31/a 100.5 d/b 105
&/c 99.5 g/d 100.05

=g fFe 3 A &1 s, g (J€) & = T & gIdr ¢ |

In this fit, shaft diameter is less than hole diameter.

3t/a  @ifers /Transition d/b  FerRRH/Clearance

wlc SR/ Interference g/d 39 W wefr / All of above

8 weré 93 & Y Ay & 98 & " & AR F FEd b

In multi start thread the distance between two adjacent threadsis known as:

3/a  gieaa/ Helix /b g / Lead

%/c T/ Pitch g/d  @EcdH a8 [ Minor Diameter
sin 60° = .

3f/a 142 d/b 1/2

Elo V372 s/d 1

HeldT Fr 3HS

The unit of density is:

Hla  gmlem® alb  kgm®

Fc gmm? g/d 8 @ @/ All of Above
BIS & 3N, Clell-d & et (A8) o & |
According to BIS grades of tolerances are given.
3fa 12 d/b 16

@/c 18 g/d 24

1 kg = 9133 (Lb) |

1 kg = pound (Lb).

Ha 0.2 d/b 0.22

@lc 2.2 g/d 1.4

fhye— FIofrer geIgor T forder & & |

/A | indicates angle projection.

3la  =qd /Fourth a/b  gfad /Second
@c  diF [Third drg g [/ First

di7 TorE 93 & I Wig 15 mm § ar o &
In three start thread, if lead is 15 mm then pitch is:
3/a 5 mm /b 3 mm
@/c 6 mm s/d 15 mm

3 DC/21001-A



2,
27

28.
28.

29,
29.

30.
30.

31.
31.

32.
32,

33.
33.

34.
34.

35.
35.

36.
36.

37.
37.

8 cm ST IR &1 TRATT g

The perimeter of a square with 8 cm side is:

3/a 8 mm g/b 16 mm
%hic 32 mm s/d 64 mm
uegfAfgs &1 gaar gmicm® 7
The density of Aluminum in gm/cmdis:
3/a 2.7 4/b 7.8
&/c 19.3 s/d 13.6

FIhIe 3eOT g THLY (FENAT T2od) Yl Har & |
The concrete gives good compressive strength.
3a Wy / True /b  Ireld / False

o9 Uk A U AT F e SR gl 3 HEd glar § o 38 Fedidllet @i e § |

A beam is called cantilever if it is fixed at one support and free at other end.
H/a Ger / True g/b el / False

Y yadel F Feereliat #1 de F @M S § |
The main reinforcement in cantilever is placed at bottom.
a  Er / True b AT / False

Il Sl ST Dleld I gl Sl § o1d 38k L/b &l 39T 10 I Sarer giar ¢ |
The column is called a long column if its L/b ratio is more than 10.
da  Ger / True d/b  Idd / False

AT (FweR) YWIT AT Ueh g@d &l &l ¢ |
Contour lines always crosses each other.
3a  wWer/ True a/b  Tad / False

e T g A1 9erd § FArd ud A A F A RshEade s sgder gar § |
Height and distance of far objects can be measured with a Theodolite.
3a  WEr / True g/b 99 / False

fAgierA & aRUIA &1 0T GHed (Frgd) AR & ST A H S ¢ |
Earth work quantity can be calculated from contour map of an area.
3a  WE/ True g/b g / False

A TIaT 37 I T Tad ggel @1 ST ¢ |

The key stone is placed first in arch construction.
3/a  TEr/ True a/b Ireld / False

TEY fr NS 7 Qe 381, ol ofel arer & oy fear amar & |

Super elevation in road curves is given for proper drainage.
3a  WEr/ True d/b el | False

4 DC/21001-A



38.
38.

39.

39.

40.
40.

41,
41.

42.
42.

43.
43.

44,

45,
45.

46.
46.

47.
47.

Fgcad BT 3K agedE @ & @ ¥ X A e (3rerses) Fed €
Difference between upper limit and lower limit is known as allowance.
a T/ True a/b  Iedd / False

wory FION YEITOT A S ETY & urkd g (AU g5 Wiss o), §EAW axd (e =) & & 3N
T AT & |

In first angle projection, left hand side view is drawn on right side of the front view.

Ha W/ True @b  JIreld / False

TARERT ueY & Rl Sh (SRWH Thel) H 3TN BT T |
Diagonal scale is used for isometric projections.
dMa G/ True /b T[edd [/ False

AutoCAD #, Tees &1 ST gt & fardl #@ (move) FHATE & 3T AT ¢ |
In AutoCAD, We can change the place of the component using move command.
3a  TEr /[ True gb  9edd / False

TS & T F SAEET AR (TFER) g8 ard dleT &7 3UURT BT & |
Square headed bolts are mostly used as fasteners.
Hfa  Ter [ True /b el / False

A (gren) TR yorel & 39l g T €

In hole basis system the Upper deviation is zero.

rfa "I/ True g/b  Ied / False
41 sq. m= sqf

3/a 5.45 d/b 9.38

&/c 10.76 dis 11.36

foseer URET & AdA ¥, SARG & SAGe St I AT ST ¢ -

Plinth area means area of building measuring

a Al dard & #eT ¥ AET d& / centre to centre of outer walls 200 mm
ab el dare F &gl A &gl a& / outer to outer of outer walls

Fc  agd Aard & 3fel ¥ 37X d& / in to in of outer walls

d/s g & uek & oAl / None of above

arer Affe & T ¥ FUC Y A H FEd &

The tap on top of wash basin is called

3f/a Ul F& / Angle cock g/b ¥ &IF / Stop cock
#/c &g @& / Bib cock dis e &% [ Pillar cock

FFL & FW yaniord feled 5975 &

Standard lintel height above FFL is

3/a 900 mm d/b 1500 mm
&hic 1800 mm dis 2100 mm

5 DC/21001-A



48.
48.

49,
49,

50.

50.

51.
51.

52
52.

53.
53.

54.
54.

55.
95,

fAfegar 7 guR Sig (varedeua Sigee) o orar ¥ afe Rfess & o sad 310 §

Expansion joint in the building is given if the length of building is more than

3la 45 m d/b 50 m

ic 25 m dis 30 m

ART (AR ST &

Mortar is a mixture of

dfa X, WA UT UrEA @b, YW WA U AT
Sand, cement and water Sand stone aggregate and cement

Hfc  HHAwC U9 9T / Cement and water d/g Id ug de=e / Sand and cement

afg A Far & o 3uaeh fafeds & arar @ g & dw fr Fus 345 m, § d wAoa
FRAYOTAT § ITAN T3 H FEA1 gl AR -

If floor to floor height of a public building is 3.45 m, the number of risers as per standard
practice shall be

3/a 20 d/b 22

Hlc 23 dis 24

gdaror # BS &1 Aded
In surveying BS means
3/a  dled 4Ass / Bottom side /b ¥ @B / Base sight
Flc  9F "EZ / Back sight d/s &% @iss / Back side

e a7t (a0t fafesan) ag ¢ o,

A green building is the one, which is

3fa g r & Yo [Rar g1/ painted with green colour

d/b  gY 987 Ud " ¥ fRT g1 / surrounded with green trees and lawns
@®lc 3ol FeTH | energy efficient

dig SR ¥ AT [ Ud fAwhlel g 9aiaNer W HH ¥ SH 3T &l

has least effect on environment from construction till destruction and disposal

TTR &ATS ¥ gd (Fehe) 3T & o, Igel fHueh! oG HT 98ar §

When TTR command is used to draw circle, first we have to select
Hla &g [Centre /b 3=ar /Radius
@fc. aW/Diameter dig =AH T U off FE1 /' None of above

dlee 3u% eanT fafady e s §
The bolt can be specified by

3dfa 98 & YFN [Type of thread b €IS /Length
F/c. T /Pitch d/g &3 @ 9K / Type of head
A
AABC & fau, sing =
For AABC, sing =
3i/a AB/AC d/b AC/AB
hic BC/AC Elfs} BC/AB
.

6 DC/21001-A



56.
56.

57.
57.

58.
58.

59

59.

60.
60.

61.
61.

62.
62.

63.
63.

64.
64.

faw v T Q@ A Agcad HedT §

Maximum no. of triangles in the given figure is

J/a 8 d/b 12
Hic 16 s/d 20

fre 3 R@ av O F aeld gRT | p=10 gm/em’®. (2=22/7)
Find the weight of the part shown in figure. p=10 gm/cm®.
(n=22/7)

= @ A mm # U v § |

Note: All dimensions are in mm,

3/a 283.2 gm d/b 283200 gm

&ic 28320 gm s/d 28.32 gm

12 g W ud F S g R ad g& F f w AT §
The angle beween small hand and big hand at 12 hours is
3/a  90° g/b 0°

&/c  180° 3/d 270°

frr F w1 wER & 9@ g | (n=22/7)

Find the perimeter of the shape shown in figure. (n=22/7)

LRCIHRE AammaT 2T 71T ¥ |Note:All dimensions are in mm.

31/a 140 mm g/b 80 mm
/e 2800 mm g/d 260 mm

D28

aﬁﬁézﬁamarHSORzﬁmox.aawaTﬁ:aﬁr%ﬁmgé?

If the prize of an item is increased to Rs 100 from Rs. 80, the % increase is?

Wa 333 % g/b 25 %
Flc 20 % s/d 30 %

1000 . T 6% T &% 9 5 WA & T Tl &l & kA g ?
The simple interest for the amount of Rs.1000 at 6% rate for 3 years is:

3/a Rs. 30 g/b Rs. 120
&/c Rs. 300 drg Rs. 240

g g T W T HA A S Fehdl &
We can reduce the fire by removing
aja 3iedieleT / Oxygen  d@b  F®AT / Heat

Flc oy / fuel gid @A 7 A F5 o/ Any of above

3-cm, 4 cm 3 5 cm SETe GHHIVT fAHI P AAGA

Area of right angle triangle having sides 3 ¢cm, 4 cm and 5 cm is

a6 cm? d/b 10 cm?
c/F 12 cm? g/d 7.5 cm?

IS 2102 & U 6 mm AT dd e Seled ¢
As per IS 2102 open tolerance up to 6 mm dimension is:

/a + 0.5mm d/b + 0.2 mm
&hic + 0.3 mm s/d + 0.1 mm
7
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65.

65.

66.
66.

67.
67.

68.

68.

69.
69.

70.
70.

Wl TR AMAY grga 7, gRaw M @ 30 iy ¢ 3N 900 rpm W ¥ | 60 A Raw dfaw
¥z 2R |

In a simple spur gear drive, the speed of driver gear having 30 teeth is 900 rpm. Find the
speed of driven gear having 60 teeth.

3/a 600 rpm /b 12000 rpm

&hic 450 rpm 3/d 20 rpm

Tmx1md@r e d T 50 mm x 50 mm & frga gieR (@RE) #1E o7 TFa & ?
How many squares of 50 mm x 50 mm can be cut from 1 m x 1 m sheet?
3/a 800 d/b 40

Fic 400 s/d 50

A9 &1 T Ag (AR gl & siav fow &g & deah & far amar ¢ |

In this co-ordinate method, the distance is given with reference to previous point.
3d/a R8T /Absolute /b ®IET / Relative

®/c. AT /Polar dis 3R & 717 @/ All the above

S5mx4mx2mag & @ss A F fimel AT # T 20 cm x 10 cm x 5 cm A9 $r frash 52
FT TR §2

How many bricks of size 20 cm x 10 cm x 5 cm can be made from the soil coming out from
5mx4mx2m size pit?

3a 40 /b 400

F/c 4000 3/d 40000

AutoCAD #, fafay wariee foufy, s @ sla & fwmr § u oy 82

In AutoCAD, various settings conditions can be found from following section

Hla el 313 AL 9 / Pull down menu bar d/lb  giger uRAT / drawing area
®/c  Welfder go @ / Floating tool bar d/s T 91 / Status Bar

FPS 3¢ & ot uher &¢ Srarer (et e aler) $r gt &
Thickness of single brick wall using FPS brick is

3dfa 200 mm &/b 250 mm
F/c 230 mm dis 115 mm

WA 71 @ 77 & O, Ry 1 # @ 7 GEaSud F uhK F g s aa n):
From Question 71 to 77, match making for the given Types of Foundation (Fig. 1):

71.
71.

12
72.

20 cm =19 frare & A Wz G
Spread footing for 20 c¢cm thick wall
Hla F d/b A
@dc C d/g D

30 cm ISy arer & A W wiear
Spread footing for 30 cm thick wall
dla F d/b G
&/c B d/ig E
8 DC/21001-A



73.

74.

75.

76.

77.

40 cm TE Qarer F fod T piw
Spread footing for 40 cm thick wall
va A d/b G
Flc E drg c

2 W / Stepped foundation
3/a D /b C
h/c A d/s B

gAgse 3 wiksee/Inverted arch foundation
3a E /b C
&/c A dis D

gesT 71 W

77 & o =1

Fig. 1 for Q. 71 to 77

F=AaT wiEsYe / Cantilever foundation
I/a B d/b C
F/c A dis F

Frargs Hice WU / Combined footing foundation
3/a F /b c
&Hic A dis G

ma78@f84$‘i€'ﬂ‘|,ﬁazﬁmwﬁmﬁm*mﬂraﬁaﬂkaﬁﬁuﬁaﬁgmz

From Question 78 to 84, Match Making for the given Co

78.

79.

80.

81.

82,

¥Fefr (Rgrer) / Chisel

mmon tools for masonry work (Fig. 2):

H/a E /b B
W 0 # B P <
A B

qider derar / Showel belcha B
wa B ab G Gl i /
e E ds  C c { (/\/

BT v E

| D
HERY F AT (&= FhaT) / Mason’s square fl 7
wa F @b D | /
&/c A d’s C S e,
b 2 F G
Feall (1, oiel) / Trowel
(< iy g 78 @ 84 & fad F 2
a E /b B )
Fig. 2 for Q. 78 to 84

Edle A d/s G e
qrgsr / Phawra
H/a F g/b B
Edle: G dis A

DC/21001-A



83.

84.

eaRe aad / Spirit level
Wa F @b C
Fe G dis A

Held (Sef#d) / Plumb
3/a D /b
&ic A dfis B

W 85 W 90 & fod, R 3 A Ruwr i §e duw (Rw @es) & at F g oz 7a:
From Question 85 to 90, Match making for the given Types of Brick Bond (Fig. 3):

85.

86.

87.

88.

89.

90.

Y T HIFE @ IGART IH R F O Y Ghd § |

£3Y d1=8 / Header bond
3/a F d/b A
Ele & dfs B

¢Re7ala dl=s / Herringbone bond
Hla F d/b E
Cale C dig D

FIffer aMSa &es / Flemish garden bond
31/a F /b C
&/c A dis D

SN -8 / Diagonal bond
3/a F d/b C

$/lc B dris A

¥ §¥5 / Stretcher bond

3/a F d/b E
Ele B dfs
TSrer-319T d@=8 / Zig-Zag Bond
Hl/a D d/b

&/c F dis E

g 85 T 90 & O Ry 3
Fig. 3 for Q. 85 to 90

e o 4% 0% ot
EXEXEX XX

6 &l

Rough Work
You can use the side space of paper for rough work.

10
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